1

HREEN

7D

5
ba‘o

RITA FR—FEEHHLT

Joooobbo

gogobobooogd

I =22

3

7

X

I=((=*)°)

I = (3a3h")? x (2ab°)?

gogooboogd

I =(x+3)(3z—5)

I =(2z+5)>

I=2x+1)(42* + 22— 1)

ggbooobuoogoobo

I=42*-9

I=22+122+20

I =3x>—5x—2

I =223 —8x%+ 8z

Oooooooooao
aZ\/1—8+\/%—2\/§

a=(V2+3)V6
10

a =

V5

gooobooogn

r+1)<7—2a

dr 2 62 — 7



2 0ooon

001 00000000000000000
(1) A={z/5<2<2000 203000}
2) A={z/2z0 3000000}

002 U={z/0<2<10000}00000,A=1{23,4,5}, B=1{1,3,5,7,9}
000,000000000

1) An

R
s N
D D)
o T W

=
I
(@
ool

ud 3 bugaobood
(1) OD00z2200 y<30000000O0OO

(2) DO0OO02°23z000 ¢23000000000,0000000000

3 2000

uggd 1 002000000000 bobobboooooo
(1) y=—2>+6x+2

(2) y=2*+3z-38

ud 2 bDoggooood
(1) y=2*-30 2000 20000000000000000000

(2) y=a(x2-6)00000 y0O0O (0,3)000000,00 « 0000000



uo 3

00 20000000o040od
202 —bxr+2=0
=4 +5

22 —br+1=0

ugd 2000000bo0o0o0d

22 +52 26

googd

ooooooon
a = sin 60°
1
b= - 150°
5cos

¢ = 3tan45°

00000 ABCOOODO,00000000000
/A =90°, BC=6, CA=y/11 000,sinB 0 tanB OO
/A =90°, BC=y/17, AB=3000,cos B0 sinB OO
/A =90°, AB=5,CA=7000,tanB 0 cosBOOOOOOO

gbogboooo

2
O°<9<900,Sin0:§DDD cosf OO

00<8<900,0080:%1|:||:|D tanf O 0O



004 00 ODOODODODO

1
(1) O°<9<180°,0089:—§DDD 7

(2) O°<0<180°,tan0:—§DDD 0

5 Uoooon

001 00000000 ¢, b, 20000000

00 (kg) |00 (0)|DOODO

50 ~ 60 6 a

60 ~ 70 b 0.10

70 ~ 80 12 ¢

0o x 1.00
002 000

3,5,2,4,6,0,8,9,4,5,7
gobb 00 10000 y0O0O0OO

003 00300000 2,20,250000 2,00 20 22,22,220000 900
000,00000000 VOOOOOOO



oo

10004

g1

8

(1) [ =a23+7 = 12

(2) I = x2><3><7 — 42

8

(3) I =9a%® x 8a3b'5 = 72a°b

(1) I=32*+92—5x—15=32>+4x—15

(2) I =42*+20x+25

(3) I=8z3+42* 20 +42*+20—1=8z3+8*—1

(1) I=(2x+3)(2z—3)

(2) I=(x+2)(zr+10)

(3) I=(3z+1)(z—2)

(4) I=2x(2*—4x+4)=2z(x —2)?

(1) a=3vV2+5vV2—4V2 =42
(2) a=+V12+ V18 =2V3+3V2

3 =253

4
(1) 3z+3<7-—2zx, br<d, x<g

N |~




200000

oo 1

(1) A={6,9,12,15,18}

(2) A={23,57,11,13,17,19,23,29}

(1) ANB={2,3,4,51n{0,2,4,6,8,10} = {2,4}

2) AnB=1{0,1,6,7,89,10} N{1,3,5,7,9} = {1,7,9}

N B

—~
w

=
N

AUB=11,2,3,4,5,7,9} = {0,6,8,10}

ANB =135} =1{0,1,2,4,6,7,8,9,10}

g
M
(@
ool
Il

(1) z<20009y=3

(2) 00 000000 z=0 (x£000000000)

32000

(1) y=—-(z—23)+1100000000 (3,11)

3\? 41 3 4]
(2) y—<x+§> - booooood <____>

(1) 000 (2,-3)00000 y=(-2°-3=2>—42+1,000
y=1a°—4x+1

1
(2) 3=a(—6)00 a=-3




oo 3
(1)
(2)
(3)

1
2 —1)(z—2)=0, z=2, 5

2?—4x—-5=0,(x —5)(z+1)=0,2=5,—1

x_5i\/25—4_5i\/ﬁ

2 2
od 4
(1) 2*4+52—-620, (z+6)(zx—1)=20, 2<-6, =21
(2) 22-9<0, (x—=3)(z+3)<0, -3<x<3
3) 22=Tx>0, z(z—-7)>0, <0, z>7
4 00000
ool
V3
1 I S
Woe=
1
(2) b=-x _\/_§ :—ﬁ
) 2 10
(3) ¢c=3x1=3
oo 2
11 11
(1) smB:%, AB =36 -1 :\/2_5:5DD,tanB:g
3 3V17
2) cosB=—==——+, CA=/17T-9=v8=2/200,
_ 2v2  2V/34
sinB = — = ——
V1T 17
7 5 5V
3) tanB=—-, BC=+25+49=+v74 00 B=—=——
(3) tan 5 V25 + VT4 , COS 7 ”



uo 3

2
(1) 0°<6<90°00 cos >000, cos = /1~ sin? :\/1—5:

7

el %

(2) 1+tan®f =

16, 0°<6<90°00 tanf >000, tanf =+/15

cos2f
ggd 4
1) 6=120°
(2) 6 =150°
5000000

U0 1 a+c=1-0.10=090, c=2¢ 00 3a = 090, a=0.30, ¢c=0.60,

6
b=5=2 z=06+2+12=20

002 000000000,0,2,34,4,5,5,6,789000,000 20 z=5,
0100000023440000000 y=3

003 V=9-22=5





